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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’,

"FVIEC

ir—o', "ECl:g—0o']]

2800

2600

2400 -

2200 -

2000 -

Warning:

col ['ECC’, '"FVIEC'] is missing

5 10

20

25

30




Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

Warning: col

[’ FVOPH’ ]

is misping

—&— PHO

5

10

20

25

30




Trend plot forP3-13 0
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P3-13
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P3-13

BYiE) | BRI (FD) | EHE (EH/HK) | XK R

07:45 152 90.0 FA| {Ri&@07:45 Bzl (GRAEEEE)
08:15 152 90.0 |Z=| {Ri&e08:15 Bzl (KREAEHE)
08:45 152 90.0 |Z=| {Ri&e08:45 Bz (KREAEHE)
09:15 152 90.0 RS {Ri&e09:15 Bzl (REERSE)
09:45 152 90.0 BE| {Ri&e09:45 B (REAEHE)
10:15 152 90.0 BE| 1Ri%e10:15 Bz (RF{EREE)
10:45 152 90.0 Rg| 1Ri%e10:45 B (REEREE)
11:15 152 90.0 S| Rige11:15 Bz (GREERESE)
11:45 152 90.0 S| Ri%e11:45 Bz (REAERESR)
12:15 152 90.0 Bl Rige12:15 Bal (REAEESE)
12:45 152 90. 0 B 1Rige12:45 Bzh (REEESER)
13:15 152 90.0 BS| 1Ri%e13:15 Bz (GGREEESE)
13:50 152 90.0 S| 1Rige13:50 B3h (REEER)
14:35 152 90.0 B 1Rige14:35 Bzh (REERESE)
15:20 152 90.0 B 1Ri%e15:20 B3 (GREMEESE)
16:15 152 90.0 e Rige16:15 Bzt (REERSE)
23t 2432.0 (16%) 1440.0 32933 %EC: 2080.0, PH: 6.0

TERRHEBR 2 STEEARTF (195.0 :

ZRIASCPRIERE138.0 ml.

138.0), FAlEEHT—@ % XA HS
LoRGERRET 4 (300) 57HA (196. 0) FF, AR T & MREEIRS £ X &R

unusual large postFgEt from yesterday (280), set to 270.0 ml.

MR Bl RECE B SR oK.
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